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As an atombecomes an ion, its mass number
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A) decreases B) increases C) remains the same

An oxide ion (02-) formed froman oxygen-18 atom contains exactly

A) 8protons, 10 neutrons, 8 electrons C) 8protons, 10 neutrons, 10 electrons
B) 10 protons, 8 neutrons, 8 electrons D) 8protons, 8 neutrons, 10 electrons

What is the total number of electrons found in an atom of sulfur?
A) 8 B) 32 C) 6 D)

When a lithiumatom forms an Lit ion, the lithium atom

A) loses aproton C) gains a proton
B) loses an electron D) gains an electron

What is the electron configuration of a sulfur atomin the ground state?
A) 2-6 B) 24 C) 284 D)

How many electrons are in an Fe2+ jon?

A) 56 B) 28 C) 24 D)
What is the total number of electrons in a Cu* ion?

A) 36 B) 30 C) 28 D)
Which electron configuration is correct for a sodiumion?

A) 281 B) 2-8-2 C) 28 D)
Which ion has the same electron configuration as an atom of He?

A) 02 B) Ca2t C) H- D)

What is the total number of electrons in the valence shell of an atom of aluminum in the ground state?
A) 8 B) 2 C) 3 D)

Which symbol represents a particle that has the same total number of electrons as $2-?
A) Se2- B) Si C) Ar D)

How many electrons are contained in an Au3* ion?
A) 197 B) 79 C) 76 D)

What is the total number of electrons in a Cr3* ion?
A) 27 B) 18 C) 24 D)

What is the total number of electrons in the outermost shell of a phosphorus atomin the ground state?
A) 1 B) 2 C) 3 D)

16

2-8-6

26

29

2-7

Nat

10

02

82

21



